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sin{A+B)=sinAcosB +cos AsinB
sin{A-B)=sinAcosB-cos AsinEB
cos(A+B)=cosAcosE-sinAsInE

Trigonometric Identities

2 20 —
cos (A—B)=cos AcosB +sinAsinB (1) cos“0 +sin“0 =1
tanA + tanB
tan(A+B)=
(A+8)= 3 Sanatans (2) 1 +tan“0 = sec” 6
tan(A-B)= tanA -tanB 2 2
1+ tanAtanB (3) 1 + cot* O = cosec” 6

sin{A+B)sin(A-B)= sin® A — sin®B = cos’B - cos’ A
cos (A+B)jcos(A-B)= cos’ A —sin’B = cos’ B — sin” A,

SiN2A = 2sinA cosA = ——anA
1+ tan-A
_ 2
cos2A = cos?A - sinZA = 1-2 sin?A = 2cos?A-1 = - an ,_,A
1+ tan“A
ZtanA
tanziﬂ.‘ — . r—
1-tan‘A

sin3A = 3sinA - 4sin’A = 4sin(60° - A) sinAsin(60° + A)
cos3A = 4cos’A - 3cosA = 4cos(60° - A) cosAcos(B0°+A)

_papnd
tan3A = S@nA taﬁn A tan{Eﬂ” - A]tanman {ED” + A}
1=-3tan<A




For any angles A, B, C

e sin (A + B +C) = sinA cosB cosC + cosA sinB cosC + cosA cosB sinC - sinA sinB sinC

« Ccos(A+B +C)=cosA cosB cosC- cosA sinB sinC - sinA cosB sinC - sinA sinB cosC
_ tanA +tanB + tanC - tanA tanB tanC _

« tan(A+B+C)=

1-tanA tanB -tan BtanC - tanA tanC
cotAcotBecotC - cotA - cotB - cotC

cotA cotB + cot BcotC + cotA cotC -1

« cot(A+B+C)=

If A, B, C are angles of a triangle (or A+ B + C = x):

sinA cosB cosC + cosA sinB cosC + cosA cosB sinC = sinA sinB sinC
« COosA sinB sinC + sinA cosB sinC + sinA sinB cosC = 1 + cosA cosB cosC

tanA + tanB + tanC = tanA tanB tanC
« COtBE cotC + cotC cotA + cotA cotB = 1

« fan EtaﬂE"“tEiﬁE’[Eﬂ}i*'tEﬂ itﬁﬂE =1
2 2 2 2 2 2

A B C A B C
e cot—+cot—+cot— = cot — cot —cot —
2 2 2 2 2 2

s Sin2A + sin2B + sin2C = 4sinA sinB sinC
s COos2A + cosZ2B + cos2C = -1-dcosA cosB cosC
cosZA + cos’B + cos’C = 1 - 2cosA cosB cosC

. . A _
o sinA+sinB+sinC = -iicﬂs—cc:SE EGSE

A B O C
cosA+cosB4+cosC =1+4sin—sin—sin—
5 5 ES




SSC CGL/CHSL TIER 2 (CRASH COURSE)

63°14'51" into radian li'%'q?ffﬁlﬁﬁ

28111
(1) 8000

58111
( ) 8000

1811w
(3) 8000

68111
( ) 8000




SSC CGL/CHSL TIER 2 (CRASH COURSE)

sinA+cosA—tanA

If tanA =5/12 then find the value of the

secA+cosecA —cot A

(1) 995/1j001
(2) 885/43
(3) 432/445
(4) Not
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cos 259 :\/ig then find the value of cos65° +tan25°
k1)2+\/_

2+V5
(2) %

1+V5
(3)

(4) V5
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Sin 210 :§ then find the value of sec 21° — sin69°
2

y
D
X

2) ———
XAy X"
e
= =y"
4)-not




SSC CGL/CHSL TIER 2 (CRASH COURSE)
What will be the value of / HTF JTd ¥ (M2 +n2)cos2p

cosa cosa

=m and =n
cosf sinf’

(1) mn
(2) m?
(3) n<
(4)0




SSC CGL/CHSL TIER 2 (CRASH COURSE)

In trianglelﬁ‘{-[\_r[ ABC angle A=90°
BC = a, AC =b AB =c .then find/@ JITAPHY tanB
- ) Z

) —
(3) 2

e

(4) —-




SSC CGL/CHSL TIER 2 (CRASH COURSE)

What will be the value of I'H'F-[EI'I?[H% sinX -cosX
sinX +cosX =17/13

(1) 5/17
(2) 7/17
(3) 7/13
(4) 3/19




SSC CGL/CHSL TIER 2 (CRASH COURSE)

What will be the value of I'FI'F-IEI'IT'N% tanX = ?
7sin?X +3c0s?X =4

(1) 1+/3

(2) V3
3) 1
4) O




SSC CGL/CHSL TIER 2 (CRASH COURSE)

What will be the value of / {9 JTd B
%cosec2580 - g cot58%an32° - gtan 13%an37%an45%ta

(1) 0
(2) 2
(3) 1

(4) -1




SSC CGL/CHSL TIER 2 (CRASH COURSE)
What will be the value of l'HF[iI'I?[EIﬁ sec 179 —

sec73° E .
Sin 17°=xly (1) -
-
=
xZ
3) s

(4) not
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What will be the value of Iﬂﬂﬂﬁﬁ cos X
1 1 1

CoOSsXx cotx P

i -2

p*+1

p
2) -2

pZ
8) =

(4) 1p
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ABC is aright angle isosceles triangle ,angle A = 90°
then find the value
CO0S?A +c0s?B +cos?C

ABC I T gafgag aaaIv Aysr sifg A = 903 At °H
Sk (1) 2

C0S2A +c0s?B +co0s?C
(2)1

(3)0
(4) 3




SSC CGL/CHSL TIER 2 (CRASH COURSE)
What will be the value of / AT JTd BY

sinx+ cos x
=5/4

tan’x+1

tan’x—1

sinx —cosx

(1)
(2) 5
(3)

(4)
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What will be the value of / |9 JTd &Y tan3x
Tan/x tan2x =1

N
(2) V3
3) 1
(4) not




SSC CGL/CHSL TIER 2 (CRASH COURSE)

What will be the value of / {9 JTd Y ‘LS

V1+sinx

tanXx =8
15
(1) 13
(2) 3/
(3) 2/5

(4) O




SSC CGL/CHSL TIER 2 (CRASH COURSE)

What will be the value of / {19 JTd BY
7/sec?x +3/(1+cot?x) +4sin?x

(1)
(2)
(3)
(4)

N © o @




SSC CGL/CHSL TIER 2 (CRASH COURSE)

What will be the value of / HTH JTd DY sin2x —cos2x
V5 tanx = 5sinx

(1) 3/5
(2) 2/5
(3) 4/5
4) 1




SSC CGL/CHSL TIER 2 (CRASH COURSE)

What will be the value of /'H'F-[SI'IT-[H% COS2X
+C0OS*X
Sinx +sin?x = 1

(1) 0
(2) sinx
(3) 1

(4) cosxX




SSC CGL/CHSL TIER 2 (CRASH COURSE)

What will be the value of / {9 JTd BY
(secX +tanX)(1-sinX)=

(1) sinX
(2) cosX
(3) tanX

(4) cosec.




SSC CGL/CHSL TIER 2 (CRASH COURSE)

What will be the value of I'H'F[il'l?[ﬁ cos2X
+CcosX
If sinX +sin2X =1

1) 1
(2) O
)
(4) -1




SSC CGL/CHSL TIER 2 (CRASH COURSE)

What will be the value of III'F-[SI'I?[ﬁ cosX

If cosecX —cotX =5

(1) 13/15
(2) 12/11
(3) 11/15
(4) 12/13




SSC CGL/CHSL TIER 2 (CRASH COURSE)

What will be the value of / HTH JTd B sinX
If secX +tanX =4

(1) 13/15
(2) 15/17
(3) 1//15
(4) 17/13




SSC CGL/CHSL TIER 2 (CRASH COURSE)

What will be the value of I'HT-'-[?ITHH@% SINX +COSX
Secx + tanx = 2 +V/5

(1)

(2) =
3) 7/9
(4) not




SSC CGL/CHSL TIER 2 (CRASH COURSE)

What will be the value of I'FIT-'-IEITHHﬁ' COS* X —
sin4X +1
If cos2X =sin2X =1/3

(1) 1

(2) 13
(3) 4/%
(4) 5/13




